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Homework Solutions – February 7, 2006
Pages 25-26, Problems 33, 34, and 35
Each of these problems consists of a set of statements; you are asked to determine what value would be displayed on the screen as a result of the operations described verbally in those statements.  For each problem, the problem statements are shown in bold; the detailed results of each step (and the final answer) are shown to the right of the statements. 
33
The variable x starts with the value 0.
x = 0

The variable y starts with the value 5.
y = 5

Add 1 to x.
x = 1 [new value = old value (0) + 1]
Add 1 to y
y = 6 [new value = old value (5) + 1]

Add x and y, and store the result in y.
y = 7 [new y = x (1) + old y (5)]
Display the value in y on the screen.
The value 7 is displayed on the screen.
34
The variable j starts with the value 10.
j = 10

The variable k starts with the value 2.
k = 2

The variable L starts with the value 4.
L = 4

Store the value of j times k in j.
j = 20 [new j = old j (10) * k (2)]
Store the value of k times L in L.
L = 8 [new L = old L (4) * k (2)]
Add j and L, and store the result in k.
k = 28 [new k = j (20) + L (8)]
Display the value in k on the screen.
The value 28 is displayed on the screen.
35
The variable a starts with the value 1.
a = 1

The variable b starts with the value 10.
b = 10

The variable c starts with the value 100.
c = 100

The variable x starts with the value 0.
x = 0

Store the value of c times 3 in x.
x = 300 [x = c (100) * 3]
Add the value of b times 6 to the value already in x.
x = 360 [x = old x (300) + 6 times 10]
Add the value of a times 5 to the value already in x.
x = 365 [x = old x (360) + 5 times 1]
Display the value in x on the screen.
The value 365 is displayed on the screen.
Page 26, Problem 36
What is the error in the pseudocode shown below.  The code is designed to compute an area by multiplying length by width after these values are input by the user.
area = width X length

Display “What is the room’s width?”

Input width

Display “What is the room’s length?”

Input length

Display area

The error is in the order of the statements.  The area calculation is done before the data are entered by the input statements.  The “area = width X length” statement must be moved so that it is just after the “Input length” statement and just before the “Display area” statement.
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